rimary
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I 3-Digit Numbers

Hundreds

Tens

Units
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| | —
J_ Five hundred is written as : II5I (.I). ‘
Five hundred and fifty is writtenas : 55 0
' | Five hundred and five is writtenas : 50 5
—r Five hundred and fifty five iswrittenas : 55 5

te in digi TU
Six hundred &\\\\

Two hundred % \\\
Nine hundred and Twenfy \\
Eight hundred and su&\ \
Eight hundred and-sever \>
Two hundr'e?z( am .........
Two hundr'eék AQd sixteen \\ \> .........
Four d\é\venteen .........
(@un&@\nd\s\w / .........
Nme\KW %d nme‘ry six L.
Nine hun\dr\Qd ninety nine . .. ..
One hundred N\s}v .........

One hundred and eleven @ .. .. ..

One hundred and ten @ .. .. ..

N -
ANV

E 8 M,»“
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T m2=
lesson | llmts Tens and Hundreds

Tens

Units

ITheP[ajc} Hundreds
—
4

v

4 4

|

[ The vah’{l? 4 h:gglreds 4
(N

\&_/

a
units

_p_Exam le I 856 = 8 hundreds ns + 6 Wll
856= /E@Q\

SR

Complete :

h

5 hundreds +
3}
S

Mr. Mohamed Nasr El Din

hundreds + .

hundreds + .

4 hundreds + 8 units

1 ten

+ units
+ units
+ units
+ units

dreds + 5 tens + 7 units
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Complete :

542 =+ ot e e = 500 + 20 + 3
701 =+ . wer e = 700 + 50
830 = + . woe e = 900 + 3
456 =

589 =

741 =

Complete :

d 9 ed : .
aw . -

UrtdeFine he ;yi?gi;%;;;;f/

4 huhdreds ghd 3 tens  |-3» 403 , 430 , 304 , 340

7 hundre&a\n\\z tens |=» 702 , 720 , 207 , 270
3

5 hundreds and 4 units |~ 504 , 540 , 405 , 450

5 hundreds.3 tens and 4 units |=2> 453 , 354 , 534 , 435

- ®---
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FRNR) 2 —

Example

The value of 5 in 357 is 50
in 357 is Tens

The place value of 5

Write the place-value of 4 in each of the following numbers:

425 ¢ e, 345 :

Complete :
The value of 5 in 425 is ....\...)\..

The value of 7 in 789 is ..............\
The value of 6 in 260 i
The value of 3 in 503 is\...M....>

\/
Circle the valué o erlined number :

275\

= 009/

J om\l\equds/ wv‘h equal numbers :

600&3\
653
48 + 200 )
6 hundreds , 5 tens 248
and 3 units
51

Mr. Mohamed Nasr El Din

200 + 40 + 8

650 + 3

2 hundreds , 4 tens
and 8 units
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100 , 200

FRNR) 2 —
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2 tens + 8 tens = 10 tens 6 tens + 4 tens = 10 tens g et
20 + 80 = 100 60 + 40 = 100 2tens = 20
10 tens =100
Complete :-
4 tens + 6 tens = ... tens 2 tens + 8 tens = ... tens
------ + ecccee = eecccccee ecccee + esccee = eccceccee
AN
1 ten + 9 tens = ... tens .. tens +\. tens = ... tens
...... + e T 30 + O\ = ...
..tens + 5 tens = ... tens tens ¥ tens\= ... tens
B0 + ... — (\60 ~..... =\ 100

100 + 500 =

2 hundreds + 5 hundreds = 7 hundreds

4 hundreds + 4 hundreds =8 hu%v‘ed\s 90 tens =960.——> 90 teng = 9 hundreds
400 + MO N

> 10 tens < 1 hundred
» 20 tens = 2 hwdreds

% 30 tens = 3 hundreds

Complete/ :
4 hundreds\ +

hundreds = ...

hundreds

...... hun ea/s hundred = ........ hundreds
400 \«+ 100 — S

...... hundreds + Wred

300 + 400

— S hundreds

... hundreds + ... hundred
400 +

Mr. Mohamed Nasr El Din

— S hundreds
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. lass(m Z_ E) I Comparing two numbers

Write all numbers that can be formed using the cards that have
the following digits : |5||4]|]|7 then complete :

The greatest number is ...............

The smallest number is .............
AR

Complete :

The greatest 3-digit number it
The smallest 3-digit number is

The greatest 3-digit number formed from 3 qnd 7 is

The smallest 3-digit number formed from 3 and 7 is

S o - § S
Mr. Mohamed Nasr El Din &j 01210901817-01004201098
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ey

Complete using the suitable sign (( < , = or > )):

254 564 124 547 357 375
564 567 758 778 367 157
456 456 8 tens 801 '5 hundreds 498
300 30 tens| 500 50units 6 ens 600

Under line the greatest number :
- 265 , 625 - 131 560 , 506

- 364 , 759 - 321

Under line the smallest number : w
- 769 , 624 74
- 770 , 707 600 , 499

Arrange each

ascendingly : ... p e ) e ) e ) e

descendingly : ... y e ) e ) e ) e

Mr. Mohamed Nasr El Din M 01210901817-01004201098



~ Legson Adding Two Numbers by Renaming

8 plus 5 equals 13

1 :

/\ write 3 and carry up one
\4\ 8 over 4 .
4 omes 5
+ 2

S 5 plus 2\equals 7.
6 (D 3 The result is 73

aaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaa

Mr. Mohamed Nasr El Din m 01210901817-01004201098



3 5 + 17 +14 - ... ...
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lasson (C)S) Adding Two Numbers by Renaming
Add

1 2 3 4 5 6
+2 45 4321

Mr. Mohamed Nasr El Din w 01210901817-01004201098
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leggson

]

PONY
Adding Two Numhers by Renaming

Complete : ( as in the example )

FRNR) 2 —

234 + ( 125 + 365)

454 + 424 =

( 234 4$.125) + 365
424+4§X

315 + 319 =

seeeesees o 3 1 5

C

Complete usi\g*v , =or > )Y %

35/4 324 45\“&14 44 + 88 332
405 +20 315 + 319 450 + 50 499 + 1
245 + 545 [ 114 + 99 328 119 +409

14

Mr. Mohamed Nasr El Din
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— it S —
~ Lesson 20;> Subtraction by Renaming

L ikEns = 16 yis Two minus 7 can't be
N Borrow 1 from 5
4 12 eeQmes 4 and
Se T2

- 1 7
3 5

v

4 12

Subtract :
3 5

~N
w
I
W
(8 ))
I

8 6~ 8 82=109

70=209 o9 1l=19

T3
Mr. Mohamed Nasr El Din ?153 01210901817-01004201098
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~ Legson @ Subtraction by Renaming

Subtract

7 5 3
-2 45 -

Mr. Mohamed Nasr El Din ij 01210901817-01004201098



lass(’“J Complete in the same pattern

Samele 2, G2 2y
245, 268,291,314 , 337, 360 383
314’ $ ‘360
268
. 245 + 23 % + 23
e 55 337 360 383

Example :

- 964
KEY == 24

988

1)423 , 434 , 4

3) 800 , 750,

Mr. Mohamed Nasr El Din
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Complete in the same pattern :

105 , 115 , 125 , .. p o A A—
350 , 450 , 550 , ... P — P— I
770 , 760 , 750 , ...

115 , 225 , 335 , ...

Complete in the same pattern :

60 | 50 | 40
50 20

o] (T

30 0 [ 80
\\% )
en for 175

piastres.

50 OW book for 17 pounds .
bney left wi .
e

The remaind

3) Nabil bough‘m%t 68 pounds and stationery for 44 pounds.
If he had 150 pounds , how much remained with him ?
Buying price = ... + ... T
The rest = .= s T i s

18!
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legsson | E

Complete :
4 6 2 + oo e = 7
2 65 + e e e 3 8
Complete :
4 5
6 \2\7
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Remeber
_ 8 35
835—/16= 1109 _; 11 96
2 4 5 6
e ‘ +1 83
— 45 6=1 8 3 (\
6 3 9

Complete :
v = 229
- = 373
Complete :
4 3 5

5 0 4 5 0 3 8
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